N & 0l & AF S & M M

20198 = S0la LA MSdSW
R s R SE=an);
HH: HEome FE(SBSL2F/HK)

ol AL 25 (29 a8)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ME&sH 11,084,006 13,223,860 A 2,139,854

s 2,195,000
J| 201,240
= 608,082
Al 8,079,684
HsolzZet A5 (23e22/H=) 10,180,574 12,260,762 A 2,080,188
s 2,195,000
J| 201,240
< 608,082
Al 7,176,252
HsAE &= 6,145,245 8,091,615 A 1,946,370
s 2,195,000
< 380,000
Al 3,570,245
SSHSAE 29 500,000 976,800 A 476,800
401 AIEHI L 201 500,000 975,000 A 475,000
01 A& HI 500,000 975,000 A 475,000
OS3HMEAE EXNSA(ZRE, HIESH
g) 40,000,000& * 302 120,000
OZ23MSAME W2+ 20,000,000& * 400 & 80,000
ONMEEX HE0IEE O0IU S7E Zd3A
100,000,000& * 14 100,000
OANgI2sd s72dsd =4
200,000,000& * 14 200,000
sUXSAE 29 114,200 84,200 30,000
201 Let249] 4,200 4,200 0
02 =24l 4,200 4,200 0
OERE dIIRS 200,000& = 12& 2,400
OQICtIAAOER HIIRS
100,000& * 12& 1,200
OMEEX SHXEO0I MILZB
50,000& = 12& 600
401 Al HIZ 201 Y] 110,000 80,000 30,000
01 A& HI 110,000 80,000 30,000
OsUXdsAE 23017 &X
2,000,000 * 2000 & 40,000
OSUHSAE =& 2517 LA
2,000,000 * 2500 & 50,000
OsUHSAE 23017 E=
200,000& = 100& 20,000
A JHENSE 29 137,609 132,517 5,092
101 14 Hl 51,839 46,747 5,092
04 JIZHHZ2XRHEE S 51,839 46,747 5,092
OEFAl NEASE SSTUHEH oA 22l 51,839




M MsSAEL
M Moz REH(2ILAZ/AHS)
SR HSAE 25 (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
—-J23 66,800 * 4 x 1562 41,684
=4 66,800 x 2% x 52 6,948
—HRIFIIHY 66,800 * 4% x 12 3,207
201 et A | 57,770 57,770 0
01 AFR2t2ldl 720 720 0
OgGFAl AEHSE 22 720
— Sl HAEE 2 30,000& * 1294 & 360
—SSAEA UGHL AIRES 7
30,000& * 124 & 360
02 =329l 57,050 57,050 0
Og9FA ANHENHSE 29 27,150
— M2 600,000& = 1200 & 7,200
— Aol 3 100,000& = 1204 & 1,200
—33AEH 22|
30,000& * 40CH = 1200 & 14,400
—33AN8H B 29,000& * 15004 4,350
OSSNEAHIROUUAAAE 2H 29,900
— M3 16,000& * 5JHA = 1200 & 960
—oHYAEZ 70,000 = 50HA + 1200 € 4,200
—HCES 442
14,000 = 5004 + 1200 & 840
— SHOIX MW 2= 600,000& + 1212 7,200
—AN2AE RS+ 16,700,000& * 14 16,700
401 Al HI YL 2 0HHI 20,000 20,000 0
01 A& HI 20,000 20,000 0
OXNEHBE ANEE FANES
20,000,000& = 14 20,000
405 XH&HFE SHI 8,000 8,000 0
01 JHAt = ZF S b 8,000 8,000 0
OZ22X&8A 2 400,000 = 20CH 8,000
AFA AUSGE 2 1,425,876 2,686,098 N 1,260,222
101 @124l 570,656 426,198 144,458
YPIENEED =P 570,656 426,198 144,458
OYFAN A£+9E 29 22y 529,056
—-J|I23 66,800 * 24Y x 255 408,816
—F5Y 66,800 * 24H * 60 96,192
—0XURSEII=Y 66,8008 * 245 x 15 24,048
Og=Al U9 d 22 A3
2,600,000& * 16Y 41,600
201 et A b 589,000 1,257,400 668,400
01 AFR22t2ldl 88,280 126,000 N37,720
Os=2HEs H& 2,000& = 5,000 10,000
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M HSTED
HH: HEome FE(SBSL2F/HK)
S MSAE =25 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OS=A df+S88 828 79
15,000,000& * 14 15,000
OYFN AU28E 425 29
3,000,000 * 12& 36,000
OztelAtR A AR 22l 5,000,000& = 14 5,000
O&=)| dEZ 35,000& = 5CH » 12& 2,100
odldl gegz 30,000 = 13CH = 12& 4,680
OXEIIE =25 =2 600,000& = 123 7,200
OFZMUSSE 5AHNE 7Y
3,000& = 2,0000H 6,000
Og+z w8g 28X 7Y
300,000& » A 1,800
O=&4a A3 ME 50,000& = 103l 500
02 2324l 500,720 1,101,400 A 600,680
Oz3&22= & HA 391,000
—dIRea 10,000,000& * 12& 120,000
—aotxE 23 10,000,000& = 12& 120,000
—tAR3 500,000& = 25 » 12& 150,000
— 2 (BB AMS)  1,000,0008 * 14 1,000
O&EIINE SX2el e 850,000& = 12& 10,200
O&ZIIAE SA2el & 200,000& = 128 2,400
OAZAE RA2c e 400,000& = 123 4,800
OLYANE SHELES 1,500,000& * 13| 1,500
OAANE H3IIs8H 1,500,000& * 13l 1,500
OAMES A2l 400,000& = 12& 4,800
O+ HIANE RANE=
1,000,000 = 53l 5,000
OaU=+=gE JIAHANE RRE=
1,000,000 = 53l 5,000
OdUW=gd &= 500,000& = 63l 3,000
OCCTV =Xl 2 eldl 300,000& « 16CH 4,800
OfREYs MER 20,000 = 23CH = 12& 5,520
OANE(=HMeANLAEES) AU
1,000,000 = 12& 12,000
O M2 3,000,000& = 14 3,000
OdUi+=gd =43 & 1,000,000& * 23 2,000
OdU+=gd FarEYHY
2,000& = 23| = 5,800m 23,200
Os&sldzel & HIEZeANLAE KA 6,000
—SE2ZHCANLE RIS
200,000& = 123 2,400
—HOIE&C2AAY RXE+
300,000& = 123 3,600
OadUi=gd MEAE HYHAEE Jted
15,000,000& * 14 15,000




M HSXESD
HH: HEome FE(SBSL2F/HK)
SR HSAE 25 (29l 8)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
206 M= Hl 14,500 0 14,500
01 M= 4l 14,500 0 14,500
O&IIIJIAH &EH A28 7
1,000,000& * 33l 3,000
O=&2zel8 PHEZEM &  500,000& * 63l 3,000
Ox=zzc8 S8&H ¢ 500,000& = 63l 3,000
O=aAE 2SH(HLY) ¢
500,000& = 63l 3,000
O3+ & &gz 2¢ 500,000& * 53 2,500
301 et a = 96,720 60,000 36,720
12 JE2d =3 96,720 60,000 36,720
OZFAU=EE T2 2d TAM= 96,720
—2Jt ZA=E 30,000& = 33| = 248 22,320
— ZctHl A ZAr2 30,0008 * 33 x 248 22,320
—A0E ZAE 30,0003 = 33| = 248« 22,320
—OlR0t2Y 2AE
60,0003 = 23| = 248 29,760
401 Al HIZ 201 Y| 130,000 148,000 A 18,000
01 A& HI 130,000 148,000 A 18,000
OEdy &4 100,000,000 * 14! 100,000
O22 dlIJtg A4 &X  20,000,000& * 14 20,000
O3=Jl 24 uH 10,000,000& * 14! 10,000
405 TtobFH SHI 25,000 794,500 AT769,500
01 AL EZFHSHI 25,000 794,500 AT769,500
ORogAI ¢ 25,000,000& = 1CH 25,000
(VAT ZAZAA ZHMNY 1,650,000 1,202,000 448,000
s 1,650,000
401 AIEHI L 2 CHYI 1,650,000 1,202,000 448,000
s 1,650,000
01 A& HI 1,650,000 1,202,000 448,000
OAZ=ZEAA MNAEZ & I Y
1,650,000,000& * 14! 1,650,000
s 1,650,000
et=sdsedy 29 457,560 0 457,560
201 2et2 Y| 178,760 0 178,760
01 At 22l 18,000 0 18,000
Olfsts4dzdd 2258 ¥
1,000,000& * 12& 12,000
OZelALR A AR 22l 500,000& = 12& 6,000
02 =224l 160,760 0 160,760
OXIIRS 5,000,000& = 12& 60,000
OEAIIAE 23 2,000,000& = 12& 24,000




2A4: MEIEDL
H: oD E(2YBZ/AR)
SR HSAE 25 (29l 8)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
OfsleExE 22 1,000,000 * 12& 12,000
OFIIMH HEBRINE +42
880,000  12& 10,560
OAgsY AEBRINY 248
350,000 ~ 12& 4,200
OA&Z&H SAXbl 1,000,000& * 12& 12,000
OF3AL~EA 2,000& = 23| = 4,500 18,000
OxAs =8 20,000,000& * 14! 20,000
301 et A= 24,800 24,800
12 JIEtE &2 24,800 24,800
Ogsoz)d 289 2AIE
25,000& * 2Al2F x 23] » 248Y 24,800
401 Al HI L E0HHI 100,000 100,000
01 Al&H| 100,000 100,000
OWE Q2lHI2ZI Z2AH 20,000,000 * 404 80,000
Oqge Mol &xX 20,000,000 = 14l 20,000
405 XHoHFE S HI 154,000 154,000
01 XA 2B F S| 154,000 154,000
OsSsANAHE 2= 100,000,000 * 14! 100,000
OMEAIZ=Z HIIHS 2
10,000,000& = 1A 10,000
O=A EJHE 7Y 24,000,000 = 14l 24,000
OH4a EoHE #¢ 10,000,000& = 14 10,000
OctHE &oIgE 2y 10,000,000& = 14l 10,000
(2)Y A MEBATXHEH HE 1,000,000 0 1,000,000
Fag 287,000
= 200,000
Al 513,000
401 AlEHIZL £ 0HY| 1,000,000 0 1,000,000
Fag 287,000
= 200,000
Al 513,000
01 Al&EH| 1,000,000 0 1,000,000
OSFN MEATZME 28
1,000,000,000& = 14! 1,000,000
Fag 287,000
= 200,000
Al 513,000
(Z)Y AN BEX=2Z & L OIXAC] WHAY 860,000 0 860,000
Fag 258,000
& 180,000
Al 422,000
401 AlEHIZL 2 0HY| 860,000 0 860,000
Fag 258,000
&< 180,000




2A4: MEIEDL
H: oD E(2YBZ/AR)
e HSAE &= (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 422,000
01 Al&H| 860,000 0 860,000
OEFA EX=2E &5 L XA A3
At 60,000,000 = 14! 860,000
g 258,000
& 180,000
Al 422,000
Asgd =4 4,035,329 4,169, 147 A 133,818
J| 201,240
& 228,082
Al 3,606,007
=N S2H 158,569 122,061 36,508
307 2Iz2to| & 158,569 122,061 36,508
03 QIZE X HAESIHIEX 158,569 122,061 36,508
OFANMS 2H(EXxs8 FH)
158,569,000 * 14! 158,569
AAHE g4 77,500 40,500 37,000
307 S12t0| & 50,500 40,500 10,000
02 QI AAIE E X 40,000 30,000 10,000
QadE ML AJIRE X (24,24, 8
AN(BEXE HW) 30,000,000& = 14! 30,000
Ofgza= HAEZHF MOEE=HE XA
10,000,000& = 1A 10,000
03 IZEHY P ESIHIEX 10,500 10,500 0
Ost=A=AY 29 NA(LES FH)
10,500,000& = 14 10,500
402 SI2vXH=20| ™ 27,000 0 27,000
01 QI EANSE X (MMM A) 27,000 0 27,000
OAgE & 2 XA
30,000,000 = 1CH = 90/100 27,000
ZOHCIM=E K& 74,940 44,940 30,000
301 et A= 3,940 3,940 0
09 #HAIAHI BAZ 3,940 3,940 0
ONd=&HMAM=UZ =FILA ¢4l
90,0008 * 16H 1,440
OXel==dgdstia 8 & ol
500,000 * h&E= 2,500
307 QI2t0| ™ 71,000 41,000 30,000
02 QI2tAAMAIE E =X 16,000 16,000 0
OZ0HQ! BHERIE WA 29
11,000,000 = 14! 11,000
OFOMAUHH 252 MO 2
2,500,000 = 2CH 5,000
04 CIZ2tSHAFALS B X 55,000 25,000 30,000




2AM: MsXs
H: oD E(2YBZ/AR)
@4 Ms8d x4 (cho &)
5 - 4
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
OM21a Z2E=XHMOMESUHE sHBH(EX
s M) 40,000,000 = 13| 40,000
OHM33 dF4H DS d2H0MBIS U3
15,000,000& = 1A 15,000
AF=ANOUMSHE XA 426,000 366,000 60,000
307 2Iz2t0| & 426,000 366,000 60,000
04 SIZ2ISHAAISH E X 426,000 366,000 60,000
OHMI408 AFACIHEUHE HEABH(EZE8 A
oK) 135,000,000& * 13| 135,000
OHM408 EF=ACHEUHE S8 XN (BEXES
HoH) 243,000,000& = 14 243,000
OHM408 EF=ACHEUHE Snsstw (L
8 HH) 2,000,0008 * 200412 40,000
OHM403 =AM =UE &It 22 A&
500,000& * 16& 8,000
A=CUNSUHIEIINA 310,000 310,000 0
307 QI2t0| ™ 310,000 310,000 0
02 QI2tAMAIE E X 290,000 290,000 0
OHMb578 Z2ET2MEeWs 2oHFH(Exg &
oK) 290,000,000 = 14! 290,000
04 CIZ2tSHALALS B X 20,000 20,000 0
OHMb573 =2 HsU3 LEA A
0,000,000& = 14 20,000
(DHINZHEM2sHIESLEANH 1,170,000 1,170,000 0
= 175,000
Al 995,000
307 QI2t0| ™ 1,170,000 1,170,000 0
& 175,000
Al 995,000
02 QI2tAMAIE E X 1,170,000 1,170,000 0
OMUE (S, 24 ,24) 54 X8
1,170,000,000& = 14l 1,170,000
= 175,000
Al 995,000
(Z2)H2AMEBHSXEX BHX(2SXH) 107,232 102,432 4,800
J| 53,616
Al 53,616
307 QI2t0| & 107,232 102,432 4,800
J| 53,616
Al 53,616
02 AI2tAAMAIE E =X 107,232 102,432 4,800
OANZHEN MESHMS XX HEX
26,808,000 * 4% 107,232
J| 53,616
Al 53,616




SN HSXED
HH: HEome FE(SBSL2F/HK)
@4 Ms8d x4 (cho &)
. 5 . 4 ~
SN BA(SA) - MRAY - BES 0l &t o il HImEET
()L MEHNSX A WX (B2SXH) 160,848 153,648 7,200
J| 80,424
Al 80,424
307 gl2tol & 160,848 153,648 7,200
J| 80,424
Al 80,424
02 It HAHE L 160,848 153,648 7,200
OANZMEMI XX Hi X
26,808,000& = 69H 160,848
J| 80,424
Al 80,424
(DdgNsnad2gne 28,800 28,836 A 36
< 8,640
Al 20,160
307 21201 A 28,800 28,836 A 36
< 8,640
Al 20,160
04 DIZHHALALSE E X 28,800 28,836 A 36
OMgxsla (52, HUA 5) 2¢
28,800,000& = 14 28,800
< 8,640
Al 20,160
()Ar2Exz=AH0I2d XA 96,000 99,280 A 3,280
J| 67,200
< 8,640
Al 20,160
307 21201 A 96,000 99,280 A 3,280
J| 67,200
< 8,640
Al 20,160
05 BIZERI & 3 96,000 99,280 A 3,280
OAZ=2H0IEEAH X 96,000,000& * 14 96,000
J| 67,200
< 8,640
Al 20,160
(Z)GFAWAOIHEUSE N KA 240,000 230,000 10,000
< 30,000
Al 210,000
307 glz2+ol & 240,000 230,000 10,000
< 30,000
Al 210,000
04 QIZFHALAIH E = 240,000 230,000 10,000
OZ=AuAOtctEMHSE 240,000,000 » 14 240,000
< 30,000
Al 210,000
ANEINESSEMSUHE X 90,000 70,000 20,000




2AM: MsXs

H: oD E(2YBZ/AR)

@4 Ms8d x4 (cho &)
- _ _ RE]

SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
307 2Iz2to| & 90,000 70,000 20,000
04 SIZ2ISHAAIH E & 90,000 70,000 20,000

OAIED =28 HsUa Mz N (X8 A
oK) 4,500,000 * 20&= 90,000

stNHEsdEXdA 255,600 245,600 10,000
307 212t0| & 255,600 245,600 10,000
02 DIZHB AAIE E X 238,600 228,600 10,000

Ostud=sotel &4 50,000,000& * 14l 50,000
OXMBSIIES S4 L HASS SH (28
= oH) 105,000
—EJ|IE= 3,000,000& * 10&= 30,000
FAES 3,000,000& * 10&= 30,000
—HEN=Es=2 s4(s4 5)
45,000,000 = 14! 45,000
OYFAZXMNY SH(BEXE8 HH)
50,000,000 * 14! 50,000
Ostnesse MAdIX E=H N
200,000& = 149¥ * 12& 33,600
04 QIZ2tSHAFALS B 17,000 17,000 0
Os=2Y 2= H=U3 IEH(EXs8 W)
1,000,000 * 103 10,000
OHNb56e Hd=sedsdta &It NE(BEX8
X oH) 7,000,000& = 13 7,000

MEYAN =SS S 5,000 3,600 1,400
307 2Iz2to| & 5,000 3,600 1,400
04 SIZ2HSHAALSH E & 5,000 3,600 1,400

OME AR A EIF XS
1,000,000& * 53| 5,000

SSEUIIEINEEI XA 60,000 60,000 0
307 212t0| & 60,000 60,000 0]
04 SIZ2SHAAISH E X 60,000 60,000 0

O==248 M=sUWs &It #Hl X
375,000 * 4052 x 43| 60,000

NESALUI X 17,000 15,000 2,000
307 QI2t0| ™ 17,000 15,000 2,000
04 CIZ2tSHALALS B X 17,000 15,000 2,000

OAl NEE &d2U3a M=l XIS
6,000,000 = 13| 6,000
O MNEE &3 &I NS
9,000,000 = 13| 9,000
O&= MNE& d2ia &It XN
2,000,000 = 13| 2,000
N=2YC2ANMKFUS HEIXH 81,500 81,500 0




SN HSXED
HH: HEome FE(SBSL2F/HK)
@4 Ms8d x4 (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 1,500 1,500 0
01 At 22l 1,500 1,500 0
O&d=0sa KX =2 M=
50,000& = 2& =« 53| 500
Od=Ma wx 822 M= 500,000& » 23 1,000
307 glz2+ol & 80,000 80,000 0
04 QIZFHALAIH B = 80,000 80,000 0
OX= ¢ 9 MsUs FA(Ex8 F3Y)
80,000,000& * 14l 80,000
NHESAIZEI A HESHSHS X 45,000 20,000 25,000
307 glz2tol & 45,000 20,000 25,000
04 QIZFHALALH E = 45,000 20,000 25,000
OXNMEAN=SE SHUEHSHI &0 24l X
2 10,000,000& * 13l 10,000
OXNMEAN=SE SHUEHSUH HA
35,000,000& * 13l 35,000
HEHsUHAEHIR 170,000 137,000 33,000
307 gl & 170,000 137,000 33,000
04 DIZHHALALSE E X 170,000 137,000 33,000
02019 E=Al -2l (KREAYE) EU38 HA
(BExg 3Y) 45,000,000& = 13l 45,000
02019 202 MEHsUHS FIH(EEE F
o) 25,000,000& = 13l 25,000
OHM29sl ZEElMENsUs FIHEZE &
o) 100,000,000& * 13l 100,000
AMIAZZ I 2 XI& 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
OAIR A2 Z2JI10Hs =l
20,000,000& = 13l 20,000
2=l ds2U N 12,000 12,000 0
307 21201 A 12,000 12,000 0
04 QIZFHALAIH B = 12,000 12,000 0
O3d=cd XNFod =703 N
10,000,000& * 13 10,000
OZ=ell SOH8l &It ZH NA (X8 HoH
) 1,000,000& * 28 2,000
A=SINYHNSHSI XA 100,000 100,000 0
307 glz2+ol & 100,000 100,000 0
04 QIZFHALAIH E = 100,000 100,000 0
OHM128l IFIINCAH MENS SSUEH
EFU3 24,000,000 = 13l 24,000




2AM: MsXs
H: oD E(2YBZ/AR)
@4 Ms8d x4 (cho &)
5 - 4
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
OHMI123 AFZEJ|a =SS 2UHOE=
3| 30,000,000 = 13| 30,000
OHM73 &= ZJUAMEA 2SS AMNEUS
19,000,000& = 13 19,000
OHMI423] AFZD|oat =252 L 0ol=Hl
LIACHS 27,000,000 * 13| 27,000
MEHSAUAEHUNHS XA 55,000 55,000 0
307 212t0| & 55,000 55,000 0
04 SIZ2HSHAAISHE E & 55,000 55,000 0
02019 A=A EAHEDICHE JH=E
10,000,000& = 13 10,000
OHM73 BHE2F DStES JHE
45,000,000& * 13| 45,000
ZOHREZ2COIAEE E=ZA020U 3 70,000 70,000 0
307 212t0| & 70,000 70,000 0
04 CIZ2tSHALALS B X 70,000 70,000 0
OHM213 20 HMSIEZ OlAFEHY &A= AHOI
23 2 2019 OFAHE G=E0N MHH
70,000,000 = 13| 70,000
(EVANZMEHESXNEXNDEH XA 12,000 12,000 0
= 3,600
Al 8,400
307 2iz2to| & 12,000 12,000 0
& 3,600
Al 8,400
02 QIZIAAAIE E X 12,000 12,000 0
OMEMESNELN} REH X
100,000& = 10¥ * 123 12,000
& 3,600
Al 8,400
=223 A& 20,000 0 20,000
307 2Iz2t0| & 20,000 0 20,000
04 SIZ2ISHALAISH E & 20,000 0 20,000
O&HI23EMIIE H23 FAHI AU
23 JH= 20,000,000 * 14! 20,000
A= A02UI X & 5,000 5,000 0
307 212t0| ™ 5,000 5,000 0]
04 SIZ2ISHAAISHE E X 5,000 5,000 0
OZ=ez NYuA oF2thal Mzl(2exs A
oK) 5,000,000& * 14 5,000
M2Z2ERHF XA 10,000 5,000 5,000
307 QI2t0| & 10,000 5,000 5,000
04 CIZ2tSHAPALS B = 10,000 5,000 5,000




=3 s
Hsomet E (222 /HK)
sz =4 CEE-ED
= - 4 14
SN EE B (BH) - HRAY - BES e Hl D= 2t
OHesl M2IE gSHictXN=E U3
10,000,000& * 14 10,000
d=2=720U3 XA 45,000 45,000 0
307 gl2tol & 45,000 45,000 0
04 DIZHHALALSE E X 45,000 45,000 0
OM1638 FZ=AEINED E=2F5F2U M2(2
T8 HNH) 45,000,000& = 14 45,000
a8 AI|H XA 30,000 0 30,000
307 21201 A 30,000 0 30,000
04 QIZFHALAIR B & 30,000 0 30,000
02019 SFAMS L ZIIUHE HZF
30,000,000 4| 30,000
YFALXZY SY(INANEXA) 20,000 0 20,000
307 glz2tol & 20,000 0 20,000
03 QI HE2EHEx 20,000 0 20,000
Og=AI=Z=2Y 29 20,000,000 4| 20,000
HEHNSESSYH 55,000 0 55,000
206 M= Hl 25,000 0 25,000
01 =8l 25,000 0 25,000
odaN=ss= JJIES N
25,000,000 4| 25,000
307 21201 A 30,000 0 30,000
02 QAFAAFEX 30,000 0 30,000
OMEHS Z52¢ SEXNAAMY
30,000,000& 4| 30,000
(MBS =X 7,340 0 7,340
< 2,202
Al 5,138
307 21201 A 7,340 0 7,340
< 2,202
Al 5,138
02 IAtFAAHEX 7,340 0 7,340
OMEXNSXNEI 2522 X
7,340,000 * 14l 7,340
< 2,202
Al 5,138
s (L2 /S 773,208 866,172 A 92,964
S0 SsHEH 2l 140,740 269,992 A 129,252
S0XSsHEH AlE 22 134,740 263,992 AN 129,252
101 @124 dl 12,024 10,844 1,180
04 JIZHHZ2XREES 12,024 10,844 1,180




R s R SE=an);
. ANo2sEac(2se2E/As)
& FIYHSLE 2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O=8UN=sdH 33 12,024
—Jl=s 66,8003 * 3H » 60 12,024
201 €2l 57,716 53,148 4,568
02 =24l 57,716 53,148 4,568
Os=A da=+J| X2
3,000,000& = 1CH 3,000
O2x=280| &2 |X2el
200,000& * 50 4 1,000
O&IIANE 23 0H 2,000,000& * 14l 2,000
OJIAH, &£H] tH2wH 2,000,000& = 14 2,000
OdZe, S 23 WH 500,000 » 53 2,500
Od=s= ZIIEA === 1,000,000& * 23] 2,000
OMd== #E& 1,000,000& » 104 = 23] 2,000
QUL HEHI(ZR)
1,340 = 704 = 8AI2t = 40 30,016
O2ge A ==& 100,000& * 13l 100
OMdz==x =ZHZAN =2 100,000& * 13 100
Ode 22 FIIEE & E=
2,000,000& = 2CH 4,000
OdlH A5 &4A 1,000,000& * 23| 2,000
OCCTV & =Xl 2t 1,000,000& * 200 & 2,000
OLYAIZ&H RR&2 2,000,000& * 14 2,000
OdJ| 2ot&d dL&EH  3,000,000& * 14 3,000
405 XtAtE SHI 65,000 200,000 A 135,000
01 XL =S FH SH| 65,000 200,000 A 135,000
O=CNs4dE eI 2
5,500,000& = 204 11,000
OZENs2 dete) ¢
5,500,000& = 6H 33,000
OdaEHsa s7 SUHAIZ ZAID WA
9,000,000& * 1set 9,000
O=CNs4dH 24d MsIl 2
6,000,000& = 1CH 6,000
OaUWds2 Hte 340 ¢
2,000,000& = 3CH 6,000
HFEHSs2 AL 2el 6,000 6,000 0
201 et 6,000 6,000 0
02 2324l 6,000 6,000 0
O&IIANE RANE= 2,000,000& = 14 2,000
OJIA, &2 sX 22l 500,000& * 204 1,000
Ox=E= RA2e 3,000,000& = 14 3,000
M= AlE2tel 632,468 596, 180 36,288
Ael2sZ2te] 272,580 325,012 A52,432




M HSUED
. ANo2sEac(2se2E/As)
S MSAL2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 Le-2d| 268,910 265,342 3,568
01 At 22l 10,780 8,460 2,320
Oostaags ¢ 50,000& = 128 = 8 A 4,800
OMIISENESE 78
1,400& = 2001 = 160 4,480
ONACHETA =22 100,000& * 13/ 100
oxcIZAIl, &2J S sA=e
200,000& * 58 1,000
OBHEUSHI(EI, A%, 24, HUHX)
100,000 * 43| 400
3234l 258,130 256,882 1,248
OZeiHoH sX2el thel
220,000& = 204 = 123 5,280
OAAE SEFLEZ 1,000,000& * 5 5,000
OAAIE HSIJIs&& 1,000,0008 * 50 A 5,000
OLYAE HZRA 2l
125,000& = 50 « 12& 7,500
OLgAIZ&H RA22 1,800,000 * 14 1,800
OYsANE RAE=> 2,400,000& = 14 2,400
O=ZJ|1&d d&e 25 WA 500,0008 » 58 2,500
O&EIILH 22 100,000 * 20& 2,000
O4dstth & | X 22l 1,000,000 * 14 1,000
O4dstth Azl 2,000& = 2,000kg * 2 8,000
Os=4 222 AZHI(EAUER)
880& * 2,7004 = 4# 9,504
Oz - HEA DAXEHI| A2
1,000,000& * 14 1,000
OZXF4+ AHLE L HF2L
4,500,000 * 13l 4,500
O2sd =8 s 2HIJ &g
2,200,000& = 33l 6,600
Ozt& A ===t 2el 200,000& = 44! 800
Odsles & ERI 150,000& * 12& 1,800
OXIIea(gerng) 12,900,000& * 12& 154,800
O&EIIQB(MoIA) 900,000& « 12& 10,800
OXIRB(INHES) 45,000& = 123 540
OIS (L) 60,000& = 12& 720
O&EIIZHl BII&A 1,500,000 = 13l 1,500
&ot+=ER3 1,900,000& * 12&8 22,800
OAYorE & 3/ 50,000& = 13l 50
OdgIl=l A3l 100,000& * 13| 100
O S22k ASIH| 36,000& * 13 36
OXItE HIILHl EIlE A
2,000,000& * 14l 2,000




R s R SE=an);
. ANo2sEac(2se2E/As)
el MSAE2e (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Odsith 2= 100,000& =+ 13l 100
206 M= Hl 3,670 3,670 0
01 MHZ 8l 3,670 3,670 0
OxFdJ& &fl&el8 dz+¢
10,0002 * 100 1,000
OFFIIZ OIS 5247
12,000& = 3& = 200K 720
OAd2el &7 2 10,000& = 308 * 3=l 900
O&lzlls 2l 7003 » 250% + 63 1,050
MET AL 2 359,888 271,168 88,720
101 @124 Hl 24,048 21,688 2,360
04 DIt Z2XREES 24,048 21,688 2,360
OMetxsa S3FHl 66,8008 2% = 50 6,680
FFIIBFH 2B IH|
66,800& * 2% * 90g 12,024
OME3d % JtZ2se &yl
66,800& * 2% = 30¢ 4,008
O=83 33l 66,8003 * 2H » 10 1,336
201 ¢er24| 29,740 10,480 19,260
01 At 22l 1,260 2,000 AT40
OANgl2sd =3I #¢
70,0008 * 3% * 63l 1,260
02 =224l 28,480 8,480 20,000
OMENs2 MII&H SN2
1,500,000& * 23| 3,000
Ode=s2 JIA, 2 RXE=
1,000,000 * 14 1,000
Oodarsa A5 &4 1,000,000& * 23| 2,000
O&stx & 12,0008 * 40m’ 480
OANgI2EsE 2=E=2 72l
2,000,000& = 14 2,000
OFZEs0E 29 20,000
—dIIRa 5,000,000& = 1& 5,000
-3 15,000,000& * 1& 15,000
307 i+l & 170,000 150,000 20,000
02 It HAHEE 170,000 0 170,000
O2% O2es01d 24
150,000,000& * 14 150,000
OgLsSHHE =29 20,000,000 = 14l 20,000
401 AIEHI L 201 136,100 89,000 47,100
01 A& HI 136,100 89,000 47,100
O=Z3J&¥ HE 5,000,000& = 14 5,000




2A: S
N2 S&2e (2L /HE)
£l EEE
- _ _ RE]
HE .G (3H) - HEAY - B %@i
02018 dtds 2 24
5,000,000& = 1A 5,000
OAsHIIE IE2E 5,000,000& = 1Al 5,000
OZEJMEs& ANE SXES
5,000,000 = 14 5,000
OASI2sH 3tEa 2te0] & X
100,000 = 9104 9,100
OANSI2sH® 3t&A o &X
300,000 = 3004 9,000
QMEsSH HNHZE(Eo4A) B
10,000,000& = 14l 10,000
OANSI2sSHd == CCTVR A
15,000,000& = {14l 15,000
ORVHSHE S4 g2 ZA
20,000,000 = 14l 20,000
O=Z0MEMH BEXHIE Huet)| £=2
10,000,000& = 14l 10,000
O=Z0ME4dH LEDZYH DA
1,500,000& » 20S 30,000
OAUMNEHE =% &X 3,000,000& = 1A 3,000
O=20M=s4dH 220 42l
10,000,000& = 1A 10,000
HHSAAH (MSEEW)(JIEH/DIE 130,224
Jl2dHl 130,224
Jl2 &4l 130,224
201 et 59,184
01 AP 2t 2] H| 59,184
O=AEXN 7 15,000 = 16=2tA = 12&€ 2,880
OEZoa gl 7,000& * 64 x 16YH x 128 8,064
Ogbte3 100,000& * 128 1,200
OARE T AFLH| 50,0008 = 12& 600
OLRBELHH]| 9,120
— EAH| %2l 500,000 * 2CH 1,000
— Z2lH 2 100,000 = 4CH = 50/100 200
— E2AD EUY 200,000& = 53] = 304 3,000
—T2lEH EU(EY) 200,000& = 53 = 304 3,000
— T2 EW(Ze2t) 200,0008 * 53 = 1CH 1,000
—PC #=¢| 100,000 = 160CH = 20/100 320
— JIEF #=2lt] 50,000& = 12&€ 600
OJIEH AFR 22| H] 5,000& *~ 16 = 128 960
OY=ZH|(AMOI2SHE, AHLEEHE) 36,360
— AR (ABI2SZE) 60,0008 * 18 » 117 7,020
— =X (AOI=2S2) 30,0008 ~ 18 » 248 7,440
— =X (ALHSEZE) 60,0008 « 18 » 365 21,900




2N
X ZH -
L= B

el

R ESE=an);
HH2LZH (MSTEL)(IIEHIIE
Jl=23tl

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
202 Od4dl 66,240 57,960 8,280
01 = LH 4 Hl 66,240 57,960 8,280
O2tLH o HI 20,000& = 16% = 122 = 12& 46,080
O&2 ™o dl 90,000& = 16YH = 14¥ 20,160
203 YR =&l 3,600 3,000 600
04 FEXNSEHE=LH| 3,600 3,000 600
OFRN2IYS =2 300,000& = 12& 3,600
204 AR A H| 1,200 1,200 0
01 ¥R 1,200 1,200 0
ONMIALLBAY (NSHEDT
100,000& = 128 1,200




